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PART - I/ QT -1
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P-11

CHILD DEVELOPMENT AND PEDAGOGY / &Tet e @ fyraTaTeA
gt
Pror - wad fa fwed g7 Freforrad

Directions : Answer the following questions by
selecting the most appropriate options.

Which one of the following statements
learning

reflects Assessment for
strategies ?
(1) Assessment is used to label

‘superior’ and ‘inferior’ students.

(2) Assessment is carried out during
teaching-learning to create
differentiated teaching and
learning strategies.

(3) Assessment is used to provide
evidence of achievement to
parents, students etc.

(4) Assessment is carried out at the
end of the learning process.

There are a few ‘first generation
school-goers’ in a middle school class.
The teacher should :

(1) call the parents and ask them to
enrol their children for tuition if
they wish their children to study at
all.

(2) give a long lecture to the parents
about how they are wasting their
money on these children.

(3) talk to the children to understand
them and make the classroom
environment conducive to their
learning.

(4) tell the children sensitively that
they do not have the capability to
study further and they should now
help their parents at work.

Students from disadvantaged back-

grounds should :

(1) be given vocational education so
that they can pursue their parents’
occupation.

(2) be placed in regular schools and

efforts should be made to adapt
the curriculum  and facilitate
learning for all the students in the

context of their social and cultural
context.

(3)  not be given education at all.
(4) be made to study in different

schools since

Is their cognitive
capabilities cannot match those of
other students.
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P-11

A child with Learning Disability :

()

(3)

(4)

needs to be put in a separate
institution and not in mainstream
schools.

has a right to study in the regular
school where there arc special
provisions for him,

should be given
education, but

vocational
should not be
taught science and writing skill.
needs to be dealt with severely
and punished harshly for his
mistakes.

Talented and creative children :

(1)

3)

4)

need to be given special attention
to enable them to reach their full
potential.

are very difficult to deal with and
the teacher should be very strict
with them.

children who are
excellent 1n

are those
each arca of
development — cognitive, social,
emotional and physical.

have a higher 1Q and have better
social skills than their peers.

In a progressive set-up children with
special needs :

M

)
3)

4)

are segregated from other children
and are allowed to join them only
at the meal time.

are given only vocational training.

are allowed to mingle with other
children on the condition that they
behave themselves.

are taught along with other
children while making special

provisions for their needs.

Scanned by CamScanner

()

X

ST ey ATyTERRT ate A< @)

(1) 3 ¥ME ¥ sen ww 9 fe
TEuRT & foamerg i |

(2) Frafa faemer & foen weor & @
I & R 3wk faw fawm
] H T B

(3) cgEmtaer feen &t e qar 39 fawm
9T @ reret 1 foamr e |

(4) 3IaH Pt & fw g e weR &3
fw o @Y SEvAHaT € |

wRrTTER SR G T

(1) < qot greett & A E I &
fw fw wm g 9= @
TGl T € |

(2) R e H g g gt § AR
o @t ST AT Tgd WS W
=few |

(3) g Toara & it &=, S — A,
IS, GacTh, WRING — H
iR €l & |

(@)  IemEls-cE A g ¢ ST e
TEg@h! B AT H IH O
TR I & § |

T WTesiier aer o faviy savaswarit

CIGEC I

(1) o T=t } Juw Rear AT ¥ AW
Fae e & gy e fear smr g

2) o sEwEte i

(3) 3% TF I W W Fedl § gor-
fem @t amam @t & T 3 o
TR Gferd W@ |

(4) I S & WY UgET W & adr
ST AR & forely
CFEY



Learner-centred teaching means that :

(1

(2)

(3)

4)

learners are considered passive
recipients and teacher has the
‘right” knowledge.

learners are slow in learning and
teacher stresses completion of
syllabus.

learners are given an opportunity
to construct knowledge and
teacher is a guide in the learning
process.

learners know little and teaching
involves transmission of facts to
them.

Learning can be facilitated by :

(M

)

(3

(4)

pushing the children harder by
using punishment.

asking the child to do a lot of drill
and practice.

pressurizing the children to spend
long hours on studying.
connecting new materials with
something the child already
knows.

In a constructivist classroom as
envisioned by Piaget and Vygotsky,

the teacher :

(1)

()

3)

“4)

gives long lectures on various
topics.

provides an opportunity to the
students to engage in inquiry and
problem-solving.

takes a backseat and observe the
students.
dictates answers to -all the
questions in the textbook.
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10. According to the theory of cognitive
development given by Piaget, the
teacher has an insignificant role to
play in classrooms.

(1) Yes, because the child is sure to
develop cognitively as he goes
along the sequence of
development suggested by Piaget.

(2) No, because the teacher supports
and facilitates the  active
explorations of the children.

(3) No, because the teacher needs to
perform  administrative  duties
also.

(4)  Yes, because the child constructs
his own view of the world.

11.  Which one of the following is most
effective method for the success of
Continuous and Comprehensive
Evaluation ?

(1) conducting assessment at the
beginning of and end of the
session ‘

(2) using a variety of ways to assess
children over a period of time

(3) giving written tests to children
periodically

(4) having only multiple choice
questions in tests

12. It is important to appreciate

children’s work rather than criticize

it. This statement is :

(1) correct because no parent can
complain to the teacher that she
scolded her child.

(2) incorrect since appreciation spoils
children.

(3) incorrect children
improve their work only when
adults criticize it.

(4) correct since it helps to foster
creativity in children.

since can
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13.

14.

15.

16.

As a middle school science teacher,

which one of the following will be
Your most preferred method ?

(1) dictating answers to the question
in the textbook '

(2) asking ‘bright’ children to write
answers to the questions in the
textbook and dictate them to the

class

(3)  conducting experiments and doing
projects

(4) making students read the chapter
aloud

Despite giving stars for every work, a
teacher finds that the students are not
motivated to learn. This could be
because :

(1)  the teacher is not giving different
coloured stars.

(2) the teacher is not
appropriate stars.

(3) the students are incapable of
learning.

giving

(4) rewards alone cannot ensure
interest and long-term learning.

What roles does sociocultural context
play in learning ?
(1) an insignificant role

. (2) itis not related to learning.

(3) it plays a very important role in
. learning.

(4) noneatall

What the child learns, how well she

learns it and how she is able to apply

that learning to various situations

depends on :

(1) opportunities the teacher provides
for memorization and recall.

(2) her parents’ intelligence and
money they spend on her.

(3) how well the school gives rewards
and punishments.

(4) opportunities she has to observe
and interact with objects and
people.
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P-11
17.

18.

19.

20.

Proximodistal principle of motor
development means that :

(I)  Development tends to proceed
from toe to head.

(2) It is a sequence of biological
changes in childhood.

(3) Development proceeds from the
center of the organism to its
periphery.

(4)  Development tends to proceed
from head to toe.

Which one of the following statements
is correct ?

(1)  Childhood is a happy period for
all children.

(2) Children are like adults in their
thinking.

(3) Children are ‘evil’ creatures who

have to be tamed by the adults
around.

(4) Childhood is experienced
differently by children in different
social and cultural contexts.

Individual differences can be
attributed to the complex interplay
between the hereditary factors and
the :

(1) genes.
(2) genetic make-up.
(3) Inborn characteristics.

(4) environment.

Which one of these does not play a
role in socialization of children ?

(1)  School

(2) Family '
(3) Physical Infrastructure
(4) Media
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21.

22,

23,

25.

According to Piaget, which one of the
following pairs is essential for
cognitive development of the child ?

(1)  Assimilation and ZPT

(2) Accommodation and Scaffolding
(3) 1Q and Creativity

(4) Assimilation and Accommodation

A child focuses on one aspect of a
situation and ignores the others. This
is dueto:

1)
(2)
(3)
4)

egocentric behaviour
inability to imitate

focus on symbolic thought
concentration

In pre-conventional morality :
(1)

many rules and values
internalized by the individual.

are
(2)  generic and broad based principles
of justice are evolved to view laws
as social contracts.

the idea of rules and values is not
developed at all.

(3)

rules are external to the self.

C)

believed that cognitive
development occurs in a sociocultural
context and evolves out of the child’s
social interactions.

(1) Freud
(2) Vygotsky
(3) Erikson
(4) Piaget

According to which theorist, language
plays a crucial role in the development

of cognitive ability ?
(1)
2
3
4

Piaget
Bandura
Pavlov
Vygotsky
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26.

27.

28.

29.

30.

A teacher. believes that each child is
unique and a special individual, and
therefore actively involves them in
their own education and development.
The teacher is adopting :

(1) Child — centric education

(2) Method — centric education

(3) Teacher — centric education

(4)  School - centric education

Which one of the following statements

best describes intelligence ?

(1) Intelligence is an undimensional
concept.

(2) Intelligence is influenced only by
heredity.

(3) Intelligence is
environment only.

(4) Intelligence is a
dimensional concept.

influenced by

multi-

Language thought.

(1) s totally independent of
(2) is synonymous with

(3) influences

(4) can be equated with

When parents buy dolls for “their
daughters and football for their sons,
their decision reflects :

(1) Gender constancy

(2) Gender insensitivity

(3) Gender empowerment

(4)  Gender stereotyping

In a classroom,

needs to be :

(1) standardized because only then
can assessment be objective and

teaching-learning

valid.

(2) individualized since there are
individual differences among
- -learners.

(3) individualilzed because learners
are a homogeneous group:

(4) standardized since learning needs
to be uniform for all the learners.
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X (10)

IMPORTANT : Candidates have to do questions
31 to 90 EITHER from Part - II (Mathematics
and Science) OR from Part - 111 (Social Studies /
Social Science).
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MATHEMATICS AND SCIENCE /
fiw adt /

Directions : Answer the following questions
by selecting the correct / most

appropriate options.
31. If3x+ ;1; = 6, and x # 0, then the
value of x2 + is :
81x*
4 7
(D 3; () 3;
2 2
3) 4-5 4) 23

32. One of the factors of
(2x +5y)> -5 (2x + 5y) — 14
is:
(1) 2x+5y-7 (2) 2x+5y-2
(B) 2x-5y+2 @) 2x-5y+7

33. The runs scored in a cricket match by
11 players are as follows :
16, 9, 15, 18, 50, 100, 102, 14, 20, 80, S
Let x, y and z be the range, mean and

median respectively of this data.
If x=y+z+p, then the value of p is :

(1) 42 2) 43
3 47 4 40

31.

32.

33.

PART - II / WTT-11

aforer @ T
Fad ugE e
ﬁmﬁ;‘mgﬁ*ﬂﬂﬁﬂq'

=6,aﬂ'{'x¢0'&.'ﬂ'ﬂxz+

1
qfr3x+ —
3x

1 mramt:
2
1
81x ) (2) 31
(1) 3—9' 9

2
3 —
3) _9_ 4 2 5

e Y
@) [2xtsy-7 () 2x+35y-2
(3) 2x-5y+2 (4 2x-oy+7

w e B & 11 faenfedt grT s T
MAFAIERE :

16, 9, 15, 18, 50, 100, 102, 14, 20, 80, 5

A AT R x, y A z T Alwst &
HAI: YRER, " AT weEw € ) aly
x=y+z+p%’,?ﬁpﬂﬂ'ﬂﬁ"§':

(1) 42 @ 43

3) 47 @) 40

SPACE FOR ROUGH WORK / T% %14 & f&T wr1e
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34.

35.

36.

A bag contams 5 red balls, 8 white
balls and 4 green balls. If one ball is

drawn at random, then the
Probability that it is not green, is :
8
M =
17
4
@ =
17
13
3 —
17
S
) =
17

If abc, bca and cab are three digit
numbers, and

abc + bea + cab = 3x(a+b+c)xk,
then the value of k will be :

(1) 33
Q) 37
(3) 111
4 11

If F, V and E represent the numberof
faces, number of vertices and number
of edges respectively of a pyramid
with square base, then the value of

3F+2V+E -
is:
(1) 33
@) 38
(3) 40
(4) 28

11

34.

35.

36.

X

T& 4R | 5 & 7T, 8 HHhg 7S A 4 @
W | afE 9o U 1T e @ |t
WEWOH A B ufEm .

8
(1) T}
o B
(2) >

13
(3) Tl

5
()] T
ﬂﬁ'abc,bcaﬂ?cab?ﬁ?aiﬁaﬁm
T, AR

abc+bca+cab=3x(a+b+c)xk'§',
Kk BT A ERT

(1) 33

2) 317

(3) 111

4 11

4 E, V 3T E a9 6l et s aet

e & weent, el A Rert =)

HEATHAT Bl WS Hed ¢,
3F+2V+E

HAAE:

1) 33

) 38

“(3) 40

4 28

SPACE FOR ROUGH WORK / T% %14 % feiq sire
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37.

38.

39.

Priya sold two watches for ¥ 1232
each, gaining 12% on one and losing
12% on the other. The gain/loss
percent in the whole transaction is :

ey

1
loss, 1 —1— %
25

71
2 rofit, 1 %
@ p T
1
3) loss,l-7— %
154
4) rofit, 1 i %
y 11— %
P 25

In which of the following cases, the
construction of a quadrilateral ABCD
is not possible ?

(1) AB = 55 cm, BC = 4 cm,
ZA = 60°, ZB = 105° and
ZC=105°.

2) AB=BC=3cm,AD=SCm,
ZA =90° and ZB = 105°.
AB=5cm,BC=3.SCm,CD=5cm,
AD =3 cm and AC = 8.5 cm.

@)
4)

AB = 45 c¢cm, BC = 4 cm,
CD =6.5 cm, AD = 3 ¢cm and
BD=6.5 cm.

Let x be the angle (in degrees) which
is 32° less than its supplement and y
be the angle (in degrees) which is 24°
more than its complement. The sum of
xandyis:

P-I1

g fedl & A% B T 1232 §
37.

38.

39.

e | uH TR W 12% AT T TR

wlz%mﬁ§§|ga‘1ﬂa‘ﬁwml§lh
FrakwEa
11,
— %
(1y @10
71
s
@ T I75g 7
7
— %
(3) E'Iﬁ,1154 o
11
1— %
@ w1
frer Pt # @ R Rt o <
ABCDwﬁmWﬁ%C? )
AB = 5.5 cm, BC = 4 cm,
v ZA = 60°, ZB. = 105° 3w
ZC = 105°.
(2) AB:BC=3cm, AD=50m,
ZA = 90° R £B = 105°.
3).. AB=5cm,BC=3.5cm,CD=5cm,
) AD=3'cm 3R AC = 8.5 cm.
4)  AB = 45 cm, BC = 4 cm,
\ CD' =65 cm, AD = 3 cm &R
BD=46.5 cm.
A wifte 76 x g T st (i o ¥
Wt 9 HyE W/ 32° %9 ¥ ARy w g

aﬁw@;ﬂﬁ)%‘,a’tmﬁwﬁzv
m%lxaﬁi'yﬂ‘ﬁ"[%:

& 1% A 126
@) 131 @ 131
& 7 G) 137

SPACE FOR ROUGH WORK / T% % % e s
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13)

- X

40. In a AABC, D is the mid point of BC 40. AABC #, BC ®1 wafig D ¥ ol

and ZC = 40° A is joined to D and ZC =40°% | A & D ¥ fiyemar mar ¥

AD = BD. The measure of Z/BAC is : AMAD=BD T | ZBACHI A ¥:

(1) 700 (1) 700

(@) o90° @) 90°

(3)  100° 3 100°

(4) 60° ©)

(4) 60°

41.  On increasing each side of a square by 41.  THT H AR A 25% B g wA
25% the increase in area will be : T ghe A g T
(1) 55% 1) 55%

@ 50% () 50%
(3) 5625% (3) 56 250A)
4 25% @)  25%

42. A 22 cm x 8 em rectangular piece of 42. TH 22 cm X 8 em ITHN T &
paper is folded and taped without Z&e i fam rfereamae foha, Aie®T 8 cm
overlapping to make a cylinder of o %1 UE o9 o9 AT ¢ ) 3
height 8 em. The volume (in cm>) of T T a0 & AT (cm3 W) T
the cylinder so formed is : 1 308
(1) 308 EZ; g
(2) 616
(3) 1232 (3) 1232
@ 176 @) 176

43. There are two pieces of wire each of 43, X & T THS T AR &% % das
length 30 cm. Using one piece a square 30em T | AR H THh gﬁ@‘ | TF T qun
is formed and from the other piece a {{.ﬂ‘ ga,@ a %lﬂl'aﬁ 5 cm, 12 cm <1
triangle of sides 5 cm, 12 cm and 13 cmmwﬁﬂqmm% |ﬁ11¢,1
13 cm is formed. The ratio of the area *

AAGH BT & & AAG A A[A T :
of the triangle to that of the square is : ¥
(1) 8:15 (1) 8"15
@ 15:8 (2) 15:8
(3) 15:2 3) 15:2
4 2:15 4 2:15

SPACE FOR ROUGH WORK / ¥% & % e ste
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45.

46.

A teacher in Class VII asks her
students to draw circles of different
radii. She then asks them to calculate
the ratio of circumference to
diameter. The students find that this
ratio is almost the same in case of each
circle. The teacher is using :

(1)  Inductive approach
(2) Project method

(3)  Analytical approach
(4)  Deductive approach

CBSE has recommended Mathematics
Laboratory as part of Mathematics
Curriculum at upper primary and
secondary stage. The main purpose of
Mathematics Laboratory is :

(1) to enable students to score more
marks in Mathematics.

(2)  to reduce Examination stress.

(3) to break monotony of classroom
teaching.

(4) to provide opportunities for hands
on learning.

Which one of the following statements
is true about ‘axioms’ ?

(1)  Axioms are the same as propositions.

(2) Axioms can be proved.

(3)  Axioms are the same as theorems.

(4) Axioms are Mathematical
statements which cannot be
proved.

45.

46.

A TENE wR g
gea WE®
Sarfrat, (CBSE) 7 TV SRS st

et srareReT 1 A A &

M ferforat @t IO | 3T 37 g
& T 9AY HCT |

@) Qe & T ol HH HET |

@3) mm%ﬁwﬁmﬁw
C TGl

(4)Fas % GIEE S HEHIETT
T HIAT |

Ffra & ar & frafefas & @ S

Hua T T ?

(1) RS e TR A |

(2) =R = fog forar s gwar &

3) RIS T

@) g v wem § et fog
T R ST wer

SPACE FOR ROUGH WORK / % %4 % foq st
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(15) B
47. " Which one of the following is the most 47. I yratrE wEel § i Qe %
essential aspect of mathematics . foafefeas & @ AT ge]
Planning in upper primary classes ? AAEIIH T ?
(1)  Present Mathematical concepts in (1) itwd deheamratt @t Softeg dielt o
a hierarchial manner. TR T | '
(2)  Write activities in a register for (2) TramEEed Wt ww Wrer § det &
reference. fow fomaan o
(3)  Provide learning opportunities to (3) Rt & fore et gareesi Bt
allow . learners to construct ITeTH HAT R B 3 Gpegarsil
concepts. = T T |
(4)  Follow the sequence of textbook.
(4) IS S ST B STET |
48.  Consider this theorem — 48. 79 YA W REw witT .
“If n2 is odd, then n is odd”. “afe n? fram ¥, @ n oy ghmr 12
This can be proved by : g Farsrasmar
(1) Contrapositive proof (1) wfafeafa suufa @
(2)  Direct proof (2) wea Suuiy @
(3)  Proof by contradiction (3) forty Suufa @
(4)  Method of disproof (4) T (o fafn &

49.  Which one of the following statements X Eﬁz{mmu:;%agf Rk
is not true about a Mathematical ) '
theorem ? (1) Wl FTrd e gma |
(1) A theorem can be in the form of (). i fog fear ST EHa S |

implication.
(2) A theorem can be proved. ()ondls 77 fog @ ST < 9 i
(3) A theorem becomes axiom if & S & |
proved. (4) T wiey @ W) AR T
(4) A theorem can be biconditional.
50. Which one of the following 50. T VI & sftemive i T et
Mathematical processes is an important BT “ﬂ‘lﬁ‘{lﬂ‘% ?
aspect of algebra in Class VI ? (1) SHTIRIHT T
(1)  Generalisation )
(2) Memorisation (&) e
(3) Estimation (3) ATHTT HAT
(4) Visualisation (4) IR HE HE[

SPACE FOR ROUGH WORK / ¥ %14 % T wiiTe.
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X (16) = a;m’[ﬁlﬁ' L Feea &
51. A teacher of Class VII finds that 51 @ gém wA & arls, T T
despite her regular teaching, a student Siiad ra Mﬁm wt:

makes errors. The teacher should : g&'ﬂm agel IR T 3 =@y |

(1) give a lot of questions for (1) ma;ﬁ;f'!.' F g
practice. feramell + RS e

(2)  refer the student to the counsellor. @ '

n e =feT | :

(3)  study the errors and their possible : afic 3EH e FR T
Causes and design her teaching 3 Mﬁw Fd R AT
strategy. # JgI BT =1y |

(4) repeat the method two-three T O
times. 4) farftr 1 L ih Rl

§ wiveld  EeTsa &%
52.  Which one of the following assessment s2. fman prafefad & |/ B
strategies is best suited to assess the e & mﬂmmﬁwﬁa

Mathematical creativity in learners ? Wm Ao (SR .

(1)  Investigatory project (1) W

(2)  Annual examinations 2 afép T

(3) - Field trips (3) &

(4) Olympiad examination 4) FicifraTs e

53. Which one of the following activities.is 53, AT VIl § Atwgi & n!ﬁ?"iﬂ 7T % firerur.
most appropriate in teaching-learning sfrm & fao frafafas § | SR

of data interpretation in Class VII ? feameng @@ mm% 4

(1) providing survey reports from (1) e ¥ gEwe RO Suerey
newspapers ' R ST |
(2) pro.wdmg wo-rksheet with a Q) FEEE S WA T R
variety of questions . .
. o ferfere ey &
(3) conducting group discussions in
the class () w1 A wE # foar-fart gt
(4) taking questions from different e = |
text books | @) fafr wrsg-qwT ) v fog ot

SPACE FOR ROUGH WORK / T% %1% % 1T w7re
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-2 »
3 4

rational number between (x+y) Tand

' +ylyis:
(1) -361
102
@) -361
204
361
3) —
204
29
4 —
204

55.  1£0.109 + 0.2 + 0.111 = x + (0.19 x 0.1)
+ (0.11 + 0.2) = 8 x (10)7!, then the

value of x is :

(1) 0.189
(2) 0.989
(3) 0.998

(4) 0.198

(17)

54.

Bb.

X

afg x = ::;—zmy=%3-'%',?ﬁ(x+y)‘l

B‘ﬁT(x"' + y-‘)%mqasvﬁﬁu#@r%:

-361
1 iiimsiot
M) 102
-361
2 i
@ 204
361
g
©) 204
(4 2
204

Tfe 0,109 + 0.2 + 0.111 — x + (0.19 % 0.1)

+(0.11 +0.2) =8 X (10)' &, A x HTHA

T

(1) 0.189
) 0.989
(3) 0.998
(4) 0.198

SPACE FOR ROUGH WORK / T% % & few e
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56. If3x-2(x+3)=22x-5)-8, then

the value of

Sx-2
3x-5

is:

(I 2

()

N
<A

3 2

N w

11
4) —
4) =

57. If V768 x /3267 =44 x Y, then the

value of y :
(1) 44
@ 72
(3) 88

(4) 36

(18)

56.

ST}

Py

uﬁsx—z(x+3)=2(2x—..5)—8ta‘r

5x-2 muAt:
3x-5

(1 2

=N s

2 2

3 2

5 U
()17

AR /768 % /3267 =44 x y & Wy
qaqE:

(1) 44
2 72
3) 88
@) 36

SPACE FOR ROUGH WORK / T% %4 % fore srare:
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X
58 10 Y2088 x Y1764 = 24 X 2, then 58. afy Y-2688 x Y1764 =24 x 2% w2
the value of z s HWAAY:
(h 7 (nH =7
()  -1l6 2) -16
3 =21 (3) -2l
(4) ‘ (4) - 3
59. The \'nI:w of 21 3 _d
R 4 2 1 -1
2)\* 1 o1 (—) X (—) +3  x—=
= X[=] +3  x-= 3 3 6
3 3 3 59, | - HAFE
- e b
s\ 5\, =~ (% x(—i—)xz :
— \ —
(8 (4) X2 /
- ) 325
(D - 48
48
215 ) _?'.._l_i
(2) — , 96
06
215
215 (3)
3) 8
( 25 48
q
@) 325 () —32"
% 96
60. Gaurav has ¥ (72 x 10%) in his account 60. TIRGF TR A T (72 x 10%) T AW 87
and his brother has T (27 x 10Y) in his TMHFERARAT 27 x109) T 1afr=i S
accoun:. l.f tl’lc't:otal. nn‘\tmu:‘t 1:; }hclr wat S ‘@'ﬁ!‘lﬁTﬁWW mx 10" ¥
accounts is written in standar o.rm RTETTITE m + n FTAEE
as m X 10", then the valueof m +n s :
) 7 s
)
@ 1118 (2) 1118
(3) 127 () 127
4 9 @ °

SPACE FOR ROUGH WORK / Y& &1 % foig wre
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61.

62.

63.

Consider the following columns A and
B in which some names of scientists
are given in Column A and the

discoveries made by them are given in
Column B.

Column A
a. Alexander i
Fleming
b. Edward Jenner ii.
c. Louis Pasteur iii. Lactobacillus
d. Robert Koch iv. Penicillin
v. Small pox
vaccine
The correct match of the items of
Column A with that of Column B is :
a b ¢ d
(1) iv i ii iii
(2) iv \Y i i
3) v iv iii 1
“4) iv i1i i 1

Column B
Bacillus
anthracis
Fermentation

Name the two endocrine glands which
secrete their hormones when they
receive orders from the pituitary
through its hormones.

(1) Adrenal and pancreas
(2) Thyroid and testis
(3) Adrenal and thyroid
(4) Pancreas and ovary

Column A lists the cell parts and
Column B lists the functions of the cell
part.

Column A
i. Cell wall A.

Column B
Controls what
“happens.
Supports
cell.
Controls what
passes in and
out of the cell.
Cell reactions
happen in it.
Which one of the following options is
correct ?

ii. Cell B.
membrane |
Cytoplasm C.

the

iii.

iv. Nucleus D.

i i v
1) B A D C
@ B C D A
3 A C D B
4@ A B C D

Scanned by CamScanner
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61.

62.

iii

sttt @1 A fafae st
?;gg?mﬁmﬁﬁa’d?%mﬁ
mm&;mﬁmﬁﬁq‘?‘ﬂﬁa
FA T
1) Tfger AT AR
(2) dRRiES SR I
(3) q@qﬁaﬁm
(@) _srawE 3R SR

A T iR ¥ o @ gE ¥ AR

S 3 il K-y
WY A WY B

i PR A S W ¢ ST
fufa St e ¥

ii. =i  B. i % gEE
faeeht AR

ii. | C. B & R AR
) TR N TERAT ¢ I

W sy |

iv. e D. 9 T S &t
wafsrar A & |

Frrfefaa o @ # o faeea w30

11 1\Y

(1)
)
()
(4)

OUUU’E

1
B C
B A
A B
A D
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64. Which one of the following is a
combination of components of an
animal cell ?

(1) Cell membrane, Cytoplasm,
Nucleus, Vacuole.

(2) Cell membrane, Cytoplasm,
Nucleus, Plastid.

(3) Cell wall, Cytoplasm, Nucleus,
Vacuole.

(4) Cell membrane, Chloroplast,

Nucleus, Vacuole.

65. Which one of the following is a group
of fungi ?

(1)  Amoeba, Spirogyra, Penicillium

(2) Aspergillus, Penicillium, Bread
mould

(3)  Aspergillus, Lactobacillus,
Paramecium.

(4) Aspergillus, Bread mould,
Paramecium.

66. Study the following statements about

breathing.

A. It is a process which provides
oxygen to the body.

B. In this process water is produced
in the cell.

C. This process helps the body to get
rid of carbon dioxide.

D. In this process food breaks down
to release energy.

The combination of statements that gives

the correct functions of breathing is :

(1) AandConly (2)

(3) A,BandD 4)

67. Which one of the following qualities is
least developed among students by
activity based science education ?

(1) Open mindedness
(2) Questioning

(3) Memorization

(4) Curiosity

Scanned by CamScanner

C and D only
A and B only
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64.

65.

66.

67.

X
fefefaa & @ BA-AT 7= F1IRE %

daeEi S AaAA§ ?

() @it fae, Fie= 74, 55,
fefaa=r

(2) I foroott, BT 7, 757,

s
(3) I fofa, @feEr 78, 59,
fefeent

(4)
fefemrent
feffaa T B AT T FaB B 2
(1) Fyefan, FATEEIEA, G
(2) m@zﬁﬂﬁfﬂfﬂﬂqﬁ@
(3) wEE, e, e
(4) WW)E@?’?‘"
RHieEd
afg X & o § i BT T S 5
AT BIAT
A %5 TF UH WA & FOIRR W
SR TeH AT & |
B. | sgiufear ¥ wiivmsn ¥ 59 Sa—
e |
R GTHT UM W, TEEar ST € |
D. 39 WHa ¥ OeH &€ o o= g
FTATE |

zﬁq_t-ﬁ & Tl FE & g TS ot
A T G E

(1) FAAIRC (2) FT«@C D
3) ABIRD (4 O AFIB
frafafas & @ sFw W nfafa
I o= e & g o=t @ @
w9 fawfaa et ?

(1) TR TFrEHar

2 wEEE

3) IR HEAT

@) fasmn
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68.  Which onc of the following statements
is true about nature of science ?
(1) Scientific  knowledge has o
tentative character.
(2)  Scientific  knowledge can  be
proved through experimentation.
(3) . Science is value-neutral.
(4)  Scientific knowledge is an objective.

69.  The following are some of the views
about assessment in science. Choose
the most impractical idea from those
given below.

(1) One cannot  undermine  the
importance of informal
observations that are constantly
collected by the teachers whenever
they are interacting with children,

(2)  Assessment needs to be flexible
and manner and modalities may
vary from situation to situation
and sometimes from one student
group to another.

(3) Teachers will have to be more
flexible when dealing with the

assessment of children with
special needs.

(4) As science teachers, we must
realise that we have to test

everything that the student knows
using a variety of tools.

70. The following are some of the views
on giving open book questions for
assessment :

a. It helps to gauge the conceptual
understanding of the student.

b. Giving open book questions is unfair
to bright students as it gives an
opportunity to all students to be
successful.

c. Open book questions reduce the fear
of assessment.

d. Students find open book questions
very useful as there is no burden of
memorizing the answers.

Select the view/views that embrace the

spirit of open book questions.

(1) b,cd (2) a,cd

3) b (4) ab,c,d

Scanned by CamScanner
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P-1g
N % frea d Pratefas & @
A HEA T E - a5 arre it der ¥ |

dgnferes 31 6T T

(2) ST et & |
faar ST Hhe
() Foar e & |
(4) A T A E
w;mmﬁame
WWWWW
(1) @ 3T ST m?fs}ﬁ
A FH G dAh Hehdl
AT e | m#{-
Ll ST
) ¥ | goe @Y g@ Wb § Rty

wE @ o qaY a6 § fr gt
et ¢ |

AEYEEeISi il TEE
@ mm@ﬁwﬁm

AT &A1 B

T Rrereh & AT &9 STEYT e

O o fo & FafT ol o
ST FA T 3T FAHT UIIOT ST
€ <7 feremrelt e #

ATHEA & foT e Resm &
ﬁwﬁﬁﬂ&-é:ﬁﬁg'agﬂw%
a. % fyrnft &t HAYRUMHASR THS &
et W T T
b. & W 3T Rt Rt 3
I ¢ HAie 75wl Rreaferah sy
A BIH ¥ ST KT e |

A gﬂmmmmwmw
|

W R 5
Wﬂwﬁﬂmﬁmi%?ﬁ

(1) b,c.d (2)
4) a,b,cd
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- X
I he Rlloving paratraph b ke | Tl T A & Ao
!exllm’(;lk-l)iscovcry of silk : mE S o
he exact time of discovery of silk is F9aq
p‘cr‘lmps unknown. According rl)(/) an old ¥ |}$ :iﬁ?q iﬁgr g;ﬁ?? i 3;;‘;
Chinese legend, the empress Si-lung-Chi was g A e Do T
asked by the emperor Huang-li to find the IR T IE & £ TRt ¥ st
causc of the (llm_nagcdllmvcs of mulberry trees 1 1 RO Tl ¥ fera weT o1 | A
growing in their garden. The empress found
white worms cating up mulberry ';ulvcs. She gwgﬂﬁ? Yg@ m gﬁ'{‘g
also noticed that they were spinning shiny Wl B o @ Tﬁﬁ
cocoons z.lmund them. Accidentally a cocoon ST ng ¥ it sl ¥R
dropped into her cup of tea and a tangle of HT%T ™ W
delicate threads separated from the cocoon. AT, Tl T Tl S € T | W T
Silk industry began in China and was kept a i A il Sl AR et aﬁ-ﬁ 3@{ wE
closely guarded secret for hundreds of years. R -ﬁ i i el §, afe R
Later on, traders and travellers introduced silk S . Eﬁ 3 37t A yrafer f |
to other countries. The route they travelled is forar wmt & SR A @, I ot +f
still called the ‘silk route’. Wmﬂ%ém - 5
What is the purposc of including the ST TR R 3 Sl
above in a scicnc?tcxtbook ? ¢ Gfinfere T R E 7
a. to develop a historical perspective a. fmigen ufvhe fesmfae T |
b. to develop an appreciation of how b, 4¢ @ne fomiad T 6 Y T
incidents/ideas give rise to disovery Fam/RER € aEqel @i LICI
of new things H AFETAC |
c. to develop a holistic understanding of c. fasm =t wHy Hﬂ’s%iaﬁi?ﬁ 6T la“m
science d. fasm= uaqE® goiehl ST
d. to make science textbooks light as the ERUCH] Fael il ¥ fom ¢ 3t &
above is just for information and not % fere & |
for testing () “F@erbwc () FAAaTd
(1) Onlyb&c (2) Onlyadd (3)/"a,b™ic (4) FaAaTHC
(3) ab&c (49) Onlya&e
72. The following is an extended activity 72. frriea  freRa foffs & <t
given in Class VIII NCERT textbook : A AR B waT VI W 0
Choose any five families of your gmﬁﬁﬂi’ﬁ'g 3 _
neighbourhood. Enquire whether their encrgy A UEURE § w U WRem w9
consumption (coal, gas, electricity, petrol, R | TAT FRT [ S I ST
kerosene) has increased or decreased in the last (e, 3, - er, Tt @ o) feet
five years. Enquire also about the measures o a6t o 9@ & A1 HF g T ag ot w
they have adopted to conserve encrgy. AT R ST S %’gf IR T I Co
What is the advantage of doing an ex.tendcd Sudert e 2} ofifey e fefafy & ==
activity like the above ? The following are . Wm 3 Frefufad ST —
the responses of a few teachers. Identify the TR T S S R e -
least appropriate response. wi% Rt et 1
(1) This activity helps students to go (1) 3 sk gqm:\:_{
beyond textbooks and find ngq; 5 G|ﬁﬂ"flm 5
answers for themselves. ﬁmmugl i 3 ﬁT&;Tﬁl'q’f 2
(2) Such activities help students Q) T - :
become confident and learn to FeAfevaTe S T S g §
enquire themselves. _ |l m_% ‘ _
(3) Such  activity ~ gives authentic (3) e it fetert forelt 8 &
understanding to students of an 1ssuc. firg  forgpe T el AN
(@) Such activities make a good (4) e ffafe 3T e € |

homework task.
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73, Students of Class VII arc testing
starch in food. While testing, students
do mistakes in observations. The most
appropriate response of the teacher
will be :

AL not o give another chanee to students,
B. o punish students and wam them.
C. 1o aceept their mistakes ermors,

Do to appreciate their attempt

() BandD () CandD
(D AandD ) Aand C

74. Which one of the following assessment

76.

strategies is not suitable for formative
assessment of learners in science ?

(1) Journal writing

(2)  Field trip

(3)  Term-end achicvement test
(4)  Concept mapping

75. A Class VII teacher wraps a thin

paper strip tightly around an iron rod
and tries to burn the paper with
candle while rotating the iron rod
continuously. Does it burn ? Which
process skill/skills of students may be
developed through this activity ?
(1) observation.  hypothesis
classification.
(2)  only classification,
observation, hypothesis
questioning.
only observation.

and

and

(4

A student wants to discuss swine flu
showing a newspaper clipping. The
disease is not mentioned in his
textbook. As a science teacher you :
(1) would read the news clipping in
class but tell children that it is not
part of syllabus, hence is not
important.

would discuss swine flu and tell
children to bring more science
related articles to the class.

ask the child to meet you after the
class to discuss such articles so
that the prescribed syllabus is
completed first and not to waste
everybody's time.

would tell the child that it is
beyond the syllabus, and not to be

discussed in the class.
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77.

78.

79.

80.

81.

Planets revolve around the Sun in a
definite path. Arrange the following
planets in the increasing order of their
period of revolution.

(i)  Venus (ii)
(iii)  Uranus (iv)
(M @), (), (i), (i)
(2) (), (iv), (iid), (ii)
(3) (@), (iv), (ii), (iii)
4 (i), (i), (iii), (iv)

Saturn
Earth

The melting point of Sulphur is
113 °C and its boiling point is 445 °C.
.\Vllich one of the following statements
is incorrect ?

(1) Sulphur is solid at 90 °C.
(2)  Sulphur is liquid at 400 °C.
(3)  Sulphur is liquid at 450 °C.
(4)  Sulphur is solid at 20 °C.

The occurrence of seasons on earth is
due to the fact that :

(1) = the earth’s axis is tilted.

(2) the rotation rate of earth changes
during the year.

(3) the earth’s axis points in different
directions during the year.

(4) the earth is closer to the"sun
during summers.

In which one of the following, heat is
transferred by the process of
conduction ?

(1) Room heater
(2) from Sun to Earth

(3) from one end of a spoon to the
other end, when dipped in hot tea.

(4)  Sea breeze and Land breeze

Each cell in our body contains DNA.
We also have proteins and fats in our

body. What is common among DNA,

proteins and fats ?

(1)  All contain acids.
(2)  All are inorganic.
(3) All are salts.

(4)  All contain bases.
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X

e 0o FHiad ta wgE & v e € |

frafafaa wet & I afeear sty &
MY UT AR HH H afea st

(i) I (i) wf
(i) &9 (iv) ge=ht
(1) (iv), (@), (i), (iii)
(2) (i), (iv), (iii), (ii)
(3) (i), (iv), (ib), (iii)
@) (). (i), (iii), (iv)

HEHT BT eI 113 °C ¢ T Fae-1iE
445 °C ¥ | fFrAfafaa ¥ | SiF-91 w9
it A

(1) TEHI0°CRIFE |

(2) TEHTA00°CHFAE |

(3) WHET450°CHREAT |

(4) WEHE20°CTWE |

gt or R uRed= g S HROTE :

(1) el 1 T8 oI G & |

(2) o F et i afisRmor I SEe € |

(3) ¥ & geat % vy forg e femadt A
TR |

@) et & gt gf e gt e |

frafefea & | frad daew abear &
e | ST AR St 2

(1) FRHFTHI

(2 TWEITEH

(3) I TR T AR H GERT A A

T % T R § 39 g fa a@
(4) TR GHR 99 9o SR
THR IR @l T HIvesT o LU, 2t
TR iR aaram g 1
AEE, AT AR A T 7
(1) =ftdemraad |
(2) wwitsTEAE |
(3) W TETE |
(4) TRFARFATE |



82. A rubber sucker, when pressed on a
surface sticks to it because of :
(1) atmospheric pressure.

(2) the glue on it.
(3) surface tension.
(4) gravitational force.

83. In the event of a thunderstorm:
(1)  one should remain in a closed car.

(2) one should run on the roof of
one’s house.

(3) one should use umbrella with a
metallic end.

(4) one should take shelter under a
tall tree.

84. All of the following are non-contact
forces except :
(1)  Gravitational force
(2) Magnetic force
(3) Frictional force
(4)  Electrostatic force

85. A book is placed in front of a plane
mirror. The observer is standing
behind the book. The image of this
book will be formed behind the
mirror-and it :

(1) will be erect and at the same
distance as the observer is from
the mirror.
will be erect and at the same
distance as the object is from the
MmIITOr.

()

(3) will be inverted and at the same
distance as the observer is from
the mirror.

(4) will be inverted and at the same

distance as the object is. from the
mirror.

86.

Consider the following statements
about adding organic manures to the
soil.

A.  They make the soil rigid so as to
hold the plants firmly.

B. They add inorganic matter to the
soil which is considered very rich
in plant nutrients.

C.  They improve the texture of the
soil.

D. They enhance the water holding
capacity of the soil.

The correct statements are :

(1) B,CandD (2) AandD only
(3) CandDonly (4 A, BandC
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87.

88.

89.

90.

When candle burns :

a. its size decreases.

b. there is melting of wax.

C. flame and soot can be seen.
d. melted wax also solidies.

From the above observations, which one

of the tollowm;, 1s correct ?

(1) ais a physical change and others
are chemical changes.

(2) ¢ is a chemical change and others
are physical changes.

(3) a & b are physical changes and ¢ -
& d are chemical changes.

(4) a, band c are physical changes.

Identify the incorrect statement.

a. Acids are sour in taste whereas bases
are bitter in taste and soapy to touch.

b. Acids turn blue litmus red and bases
turn red litmus blue.

c. Solutions of substances that show
different colours in acidic, basic and
neutral solutions are called indicators.

d. An acid and a base neutralise each

other to form a salt and a salt is

always neutral.
a, d
b, c

(2 ¢
4 d

(1)
(3)

Radhika’s gums were often bleeding
and her wounds were taking longer
time to heal. Her diet could be
deficient in which vitamin ?

(1)  Vitamin B, (2) Vitamin C

(3) Vitamin D (4) Vitamin A

“Sodium and Potassium are stored in

Kerosene. Give the reason.”

The following reasons are given by

VIII class students :

A.  Both are highly reactive and react
with carbon dioxide in the
atmosphere.

B.  Both are highly toxic and gives
off toxic fumes.

C.  Both are highly reactive and react
with oxygen in atmosphere.

D. Kerosene helps cut off the
reaction of the metals with oxygen
in the air.

Select the most appropriate reason(s)

given by Class VIII students.

(1) onlyA 2)

(3) onlyB 4)

C&D
c&B
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Candidates have to do questions 31 to 90
EITHER from Part - II (Mathematics and
Science) OR from Part - III (Social Studies /

Social Science).

aehafaat ;:,1:7 il
a7 -
frﬁraa';%iﬂ"'v') ey

(AT AT
]

SOCIAL STUDIES / SOCIAL SCIENCE

Directions : Answer the following questions by
selecting the correct/most appropriate options.

31. As mentioned in the Chola
inscriptions, ‘Brahmadeya’ was gifted
land. To which one of the following
had it been gifted ?

(1) Temples

(2) Brahmanas

(3) Jaina institutions
(4) Schools

32, In the Seventh Century A.D. big
landlords or warrior chiefs in
different regions were known as :

(1) Maha-Samantas
(2) Amatya

(3) Mahamatya

(4) Samantas

33. Which one of the following dynasties
charged ‘Vetti’, the tax taken not in
cash, but in the form of forced labour ?
(1) The Cholas
(2) The Guptas
(3) The Palas
(4) The Chalukyas

34, Who among the following presided

over the ‘diwani adalat’ (civil court), a
new system of justice, established in
the year 1772 under the British

administration ?
The Governors of the Presidencies

(1

(2) The Governor-General

(3) The jurists from different religious
communities.

(4) . European District Collectors
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35.

36.

37.

38.

39.

}’Vhich one of the following statements
Is correct about the Taiping Rebellion
(1850) in China ?

(1) The rebellion was against the
traditional religion of Christianity
practised in China.

(2) The movement aimed to forge a
kingdom where there was no
ownership of private property and
no difference between social
classes.

(3) This massive popular uprising
took place in the northern parts of
China.

(4) The British and the French armed
forces operating in China did not
help the emperor of Qing dynasty
to defeat the rebellion.

Which one of the following styles of

painting specifically depicted India as

a quaint land to be explored by

travelling British artists ?

(1) Mural painting

(2) Picturesque landscape painting

(3)  Scroll painting

(4)  Portrait painting

‘Hundru Falls’ is found in which one

of the following plateaus ?

(1) East African Plateau

(2) Western Plateau of Australia

(3) Tibet Plateau

(4) Chhotanagpur Plateau of India
For every one degree of longitude the
local time changes by :

(1) 2 minutes

(2) 6 minutes

(3) 1 minute

(4) 4 minutes

Which one of the following planets
takes least time to complete one
rotation on its axis ?

(1) Mercury
(2) Earth
(3) Jupiter
(4) Neptune
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40.  Which one of the following Island groups 40, FPrefrfam & yy
is situated on the same latitude ? T oy fead )
(1) Bahamas and Srilanka (1) Erate | g 3 i
(2) Baker Island and Caroline Islands @) T gy 3T FRIfe 19
(3) Clipperton Islands and Cook @) far g R FT L
Islands 1) g
fiq sk AR
(4) Tonga Islands and Mauritius * <
Islands '
. % 12 o € AT}
41. When it is 12 noon at London the local 41, wEAAH AT Frm:
time at 15° east of London will be : 15° ‘[éﬁw o )
(1)  10.00 am (1) 10 IR
(2) 11.00am @ 11 IR
(3) 01.00 pm G) 1 o BT
(4)  9.00 am 4) | 9 & WIe:
42. In which one of the following oceans 42. fPr=afafas TRTETRI | ¥ frad qet &7
does the deepest part of the earth lie 2 R e T R
(1)  The Arctic Ocean ) A TR
(2) The Indian Ocean @) feg HETEIR
(3) The Pacific Ocean () VIR e
(4) = The Atlantic Ocean () SeITE TR
43. The Sahyadris are popularly known 43, | ARl ) e ST AT
as:
(1)  Eastern Ghats (1) e
(2) Western Ghats ) R e
(3) The Aravalis 3) I
(4) The Himalayas (4) fewrer
44. Which one of the following statements 44, PrafrfamsmiddsRaremm adt
is correct ? Y A
(?)c The Oyashio ocean current is a t 3 HRI T ¢ )
URT & el SRy (eien)
warm current while the Kurushio *TRT%,I S

current is a cold current.

@) i s S

(2) The Brazilian and California . &
currents are warm currents. (=teoT) HRTE § |

(3) The Labrador and Gulf Stream @) WK A T @ avd)
both are cold currents. (Riten) HRTE & |

(4) The Labrador Ocean current is a (4) wTeR TENETRIT YRy 30} i)
cold current while the Gulf Stream U & wafe Tew @
is a warm current.  YRTE |
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45.  Which one of the following ocean

circulations is created by the strong
gravitational pull exerted by the Sun
and the Moon on the earth’s surface?

(1) Ocean currents
(2)  Tides
3)  Tsunami
(4)  Waves
46.  Find out the main feature of
‘Westerlies’ from the following :
(1) They change their direction in
different seasons,
(2)  They blow permanently in east to
west direction.
(3)  They blow from sea to land,
(4)  They are permanent winds.
47. Match the following two columns :
Oceanic
circulations vextuzes
. Wave a. Periodic rise and fall
of water.
1. Tide b. A strong seismic wave
ii. Tsunami ¢. Up and  down

48.

movement of oceanic
water frequently

Stream of water
flowing constantly on
the ocean surface ina

iv. Current d.

definite direction
(1) ii-a iii-b i< ivd
(2) id ii-a iii-b ivc
(3) ii< iii-d i-a iv-b
(4) ii-b i-a iiic ivd

Which one of the following is a correct
arrangement of different layers of the
atmosphere starting from earth’s
surface ?

(1)  Troposphere, Stratosphere,
Mesosphere, Thermosphere,
Exosphere.

Thermosphere, Troposphere,
Exosphere, Mesosphere,
Stratosphere.

Troposphere, Mesosphere,
Stratosphere, Thermosphere,
Exosphere. o

Thermosphere, Stratosphere,

Mesosphere, Troposphere,

Exosphere.

(2)

(3)

(4)
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(3) FAm

(4) @
frefafaa 7 ugen va=t %1 ge fagiean
maﬁﬁrq:

(1) & fafo=r =3 9 a9t faen agemt

&l & |
g = =1 4 0w ¥ ufemn & AW

(2)
AT Al € |
(3) I O9g & 9T &t AN FEAA € |
(4) TR TEAE |
Frrfatas 2t Tt &1 faem St
mﬁ. =T
i. @ a. A W FEES I
ii. SR b. e YRl adi
i, g ¢c. TR STeT Sl SRR
IAT AT AT |
iv. R d. WEErE HO9E W
fAfrmg  feomedt o
afe =7 @ 981 9
T & YaE |
(1) ii-aiii-b i< ivd
(2) id ii-a iii-b iv-c
(3) ii< iii-d i-a iv-b
(4) ii-b i-a iiic ivd
gEl B FAE § YR & g0 aIgAvEA
&l fafi= wat &1 frafafas § @ v
HIHHATE?
(1) &hHUSH, THATHUSH, HEHUSH,
aued, sfgHuger
(2) dUAvSH, & YHUSH, digHUSd,
TeAqUSH, GHATIHUSH
(3) &PHUSH, AEHUSH, QHAIIHYSH,
AYHvSH, Sfedvee
(4) TIHVSTH, GEATHUSH, WEUSH,

gvmUse, FfeHvee
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. g & Fratafas =i
49. Which one of the following statements 49, W T & :
about the Sahara Desert is correct ? Fa@FA A C? ' ¥
(1) Itis atype of cold desert. (1) Wﬂmm e
(2) It once used to be a lush green 2) %@Wﬁaﬂ-ﬂﬂ - ! %
plain. 3) wwmﬁﬁ?ﬂﬂm@m
(3 It is covered only with vast ga g1 N
1 |
stn?ches of sanfis. | 4 TETN mergta & ferd
(4) It is located in the continent of
Europe.
s0. & qRRE # freAfeiad ot § |
50. ‘Humus’ is found in which one of the ) ARTE?
following layers of the soil profile ?
(1) Top soil (1) S
(2) Weathered rock (2) e FgT
(3) Parent rock (3) % FgH
(4)  Sub-soil (4) J9IF
. . frefifgs waell @ @ BEE wES
51. Which one of the following crops grows 51. TEY T3
best in well-drained loamy soil ? Wﬁa e ™ " e
FEIE?
(1) Coffee .
(2) Cotton (1) kil
3) T (2) U
4) ] " N =1
4) ute @) SE
52. Which one from the following 52, oftenfes wifawi 37} T &4 & a0
measures is not considered as risk fp=ffaa st § | 59 = ® U™
reduction for industrial disasters ? T AT
(1) Storage  capacity of ' toxic ) f¥er Terdt i HUSROT e St AR
substances should be restricted. : A =T |
2) Polluthn dlsl?ers:on methods in @) N ST T —
the industries  should be ﬁ!ﬂ” i
strengthened. Sl ST <e | .
(3) Densely populated residential () T R ER & uifer @F &
. areas should be in the vicinity of ' fepe g =l |
incistrial amess. @) o H YA R s #
(4) Fire warning and handling system T il I vt I TR |
should be improved.
53. Viticultureis : 53. vty (et @ s ¥
(1) breeding of fish in specially (1) f‘é{ﬂq w0 ¥ i et st de)t
constructed tanks and ponds. H WU |
(2) cultivation of grapes. 2) Rw =
(3) commercial rearing of Silkworms. () WU F R ST T |
(4) growing of vegetables, flowers (4 =i sy ¥ fore wism ‘Fﬁ
and fruits for commercial use. R it iy ) )
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p-11
54. Which one of the following statements
about Mahajanapadas is correct ?

(1) Not all Mahajanapadas had a

capital city.

(2)  All the Rajas of a Mahajanapada
met together in assemblies called

sanghas to decide upon issues.

(3) The army in Mahajanapada was
maintained largely from the gifts
made by the locals.

(4) Each Mahajanapada was ruled not

by one, but thousands of rulers
together, each known as Raja.

About 1800 years ago, who among the
following composed the
Silappadikaram, a famous Tamil epic ?

(1
(2)
(3)
4)

Ilango
Thiruvalluvar
Nakkeerar

Sattanar

The Buddha attained enlightenment at :
(1) Bodh Gaya

(2) Magadha

(3)
4)

Sarnath

Varanasi

The ‘Ring wells’, excavated in the
earliest cities that were developed
about 2500 years ago, were used for :

)
2)
©)
(4)

Worshipping
Bathing
Garbage dumping

Irrigation
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58. Who among the following won 58, Prafafaa & @ e fawme eIy
universal respect for constructing a PrrgeEr w1 FE T
large reservoir called ‘Hauz-i-Sultanij’ ? | uTe fRar 2
(1)  Qutbuddin Aibak (1) e o
(2)  Alauddin Khalji () S Gl
(3)  Firuz Shah Tughlug (3) TRisT o e
(4) Itutmish (4) goRamHR
S9.  Which one of the following statements 59, WIfe EX & A F o ¥ fraffag
about Martin Luther is correct ? am:ﬁﬁﬁaﬁﬂ-wﬂﬁ T
(1) He encouraged the practice of (1) &3 9™ Al § GEIR TH % forg
making donations to the church to w4 # gF 3 B WA R Sewted
gain forgiveness for sins. o |
(2) Many Catholic Christian sects (2) FF Foifrr TOR TR Iy
trace their origins to his teachings. Ig0E R i et § @ €

(3) He felt that several practices in
Roman Protestant church went
against the teachings of the Bible.

(3) 3 g% "Hegd T 6 dmm uReee
e & IAH AAN-HOER IRET H

Rmratl & feg I € |
(4)  He translated the Bible into @) I e H1 S I g S '
German.
fmar
60.  Consider the following two statements 60, iiF AmEr w1 fER gRed TR F

A and B about the idea of ‘Three
Orders® formulated in France in early
11 century and choose the correct

TN AT H e o T | q e
P gt Fo A @i B w Rmr

BT 3R S BT =aT R
answer :
A. HHS ' faaifsg
A. The society was divided into three s mﬁ i a";: aﬁm
classes namely, those who prayed, - ~ W e 91, 4g
those who fought and those who e S SR Wt W A
tilled the land. &t |
B. The division of society into three B. @ ot & W ¥ foreom
orders was supported by the church B e e o1, e SR
to consolidate its dominant role in W, T S e IS =t 3R
society. T TE T |
(1) Both A and B are true. ) AGﬁTB@"I‘-ﬁHﬁ% |
(2)  Ais false and B is true. = ) AR 3k B TR )
(3) Both A and B are false. 3)  A3RB T
(4) Aistrue and B is false. 4) Awditairp TEE |
- ‘ " ] \

L

oldllieu vy cvdadirioudalliiel
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61.

62.

63.

A  student interviews Tsunami

survivors for a project in Geography.

This can be considered as a project

based on which one of the following

sources ?

(1)  Secondary source

(2) Hearsay

(3) Both primary and secondary
sources

(4) Primary source

Consider the following situation and
choose the most appropriate response :

A student comments in the class that
corruption is inevitable at the Panchayat
level. You would :

(1) demand that this comment be
ignored and instead the class
should focus on role of Panchayat

as metnioned in the textbook.

agree with the student and

conclude the class with a critique
of the Panchayat.

(2)

ask questions in the class on how
an ideal Panchayat could be made.

3)

dismiss it by saying they are too
young to know about this matter.

“4)

Choose the most suitable method for

developing concepts in Social Science

at the upper primary level.
(1) memorising answers to questions
given in the textbook

(2) listing dominant featurcs

(3) learning through a series of guided
questions

(4) learning through definitions
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61.

62.

63.

X
t{{ﬁﬁﬁ@qﬁﬂiﬂm%ﬁwgwﬁﬁaﬁ
@Wﬁ%mwﬁmﬁwm
%lwuﬂ'ﬂ’lﬁmﬁﬁmﬁ-ﬁaﬂﬁﬁm
e TR AR WA AT HHA S ?

()  ficlas @i

@) GG a

3) st T fcltas Q1 Al

4) refien Ei

freffes Rufr W RER ST R
o Sfaa I A T

e 7 s el @t T ¥ foR g W
o W AEE ¥ - A

(1) w%mﬁa%m%@"r%rﬁmmiﬁaﬂt
Wﬁaﬁm@mﬁﬁﬁﬁr
& e A W T Q|

() W@mz‘iﬁaﬂrﬁmﬁ
W%mmﬁmﬁﬁ
Fat |

3) e 3 v N e T SR =
38 ST T W § |

4 77 e g @RS H01 6 9 W
a1 T & fr sga s € |

mmﬁ*wurmnﬁa;ﬁmﬂaﬂ

mﬁmmﬁﬁﬁwmﬁ

(1) Wﬁﬁqnqﬁ%aﬂﬁaﬁ
g BT |

(2) et i el R |

(3) ﬁé%uﬁaﬁsjamﬁ;ﬁaml

(4) e @ e |
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64. Which one of the following conceptual 64. iﬂ o fawm =t gﬁqﬁ‘;&aﬁmﬁ:ﬁ
areas is associated with skills in distance wyer  Frafafa .
and direction representation ? HAIROTTH & &
(1)  Map reading (1w T
(2) Diversity (2) fafar
(3)  Sustainable development (3 W m
(4) Money and Market (4) TR EER
65. Choose from the following the most 65. ﬁﬂﬁfhﬂﬁﬁ.maia“ i Igwaimlz
appropriate statement that could S g Ol ¥ feTen
describe the subject Social and FofT T HEHA & :
Political life. (1) T gRuTTS & HET WA A
(1) It emphasizes the use of s A WAz |
definitions. & il .
(2) It encourages rote learning. (3) dF ardfash St il & w
(3)  Itis related to real life situations. SETE |
(4) It emphasises one correct answer. (4) 9% T GE IW W & AT |
66. In order to introduce a Social Science 66. umRE fmrt frea w1 o= =@ %
topic, which of the following methods oo Prafafas & @ - Tl wea
would be most appropriate ? oo anif
A. Case Studies w1 i 3reEE
B.  Fictional Narratives . "HegeIcHS gl
C. Discussions T [®Ee
D. Definitions ¥ ufeqme
(1) A,BandD (1) ®@aARY
(2) B,CandD 2 @AY
(3 A,CandD 3) wmwaky
4) A BandC @) FFAT
67. Story telling is an effective way to 67. FxFrl T R wR
teach History as : WA T &, i -
(1) it can be an effective tool of (1) I T = T e Tl
evaluation. BEFATE |
(2) it creates curiosity & interest (2) TE fomfaat & T wd SRTEEdT
among the students. ST HFATE |
(3) it helps students to easily B) T AWH ¥ T =R B T
memorize answers. ferenferat =} weraem sea ¥
(4) it makes the textbook attractive. (4) T IRIYETH @t e T Y |
ah - T
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68.

69.

70.

71.

72.

Which one of the following activities is
most suitable for teaching the changes
in land-use pattern at the Upper
Primary Level ?

(1)  Exhibition
(2) Role play
(3) Quiz

(4) Discussion

Consider the two exercises ‘A’ & ‘B’

and select which of the given choices

represent(s) an activity on historical
imagination.

A. You are a sailor who has just come
back from Barygaza. Narrate your
experience to your friend.

B. Trace on a map the Silk Route

adopted by the traders.
(1) Bis false
(2) A and B are true
(3) A and B are false
(4) Aistrue

Which one of the following statements
on Continuous and Comprehensive

Evaluation (CCE) is inappropriate ?

(1) It makes teaching learner-centred.

(2) It helps in identifying the learning
problems of students.

(3) It burdens the children.

(4) It assists in self-assessment.

NCF 2005 is of the opinion that
textbooks should be seen as 2 medium :

(1) to inculcate the accepted values of
society.

(2) to transact the information
accepted by the dominant class.

(3) to pass the examination.

(4) of further inquiry

A Social Science teacher plans to
undertake a project on the lesson,
“Understanding Diversity”.

Select the most suitable method to be
used the teacher to initiate a
discussion on this task.

(1) encourage students to think of
examples from their surroundings
and start a dialogue '

(2) provide written instructions to the
students on points for discussion

(3) encourage students to see projects
of their seniors and discuss

(4) provide reading material to the

students

{
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69.

70.

71.

72.

X

o7 WTufe @/ O¢ Y 39EnT wiaey &
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¢ . wrafiew W o . e
73. At the upper primary stage, Social 73. A feral 9@ fawge
Science includes content from which Frafafaa # ¥ o aw]
of the following subjects ? AR HET e ? B
(1) History, Political  Science, (1) daes, forTr, ier
Geography and Psychology. EClCEIE]
(2) Geography, Political Science, ) ;Tﬂﬂ eI ’
Anthropology and Psychology. AT
(3) History, Geography, Economics (3) ke, e, 3 TR S
and Political Science. fae
(4) History, Geography, Political (4) e, e, T l 3R
Science and Philosophy. CH{ENIEC]
EEIRE e FRA BT T el
74. Portfolios are an important tool of 74. ¥,
assessment as : ' . -] et
(1) it enables teachers to make (1 3z& femerenl ﬁa‘_’_ - qt% :
generic  observation on the it e STl ‘
students. 2) w® ot & ﬁam:r GOl e
(2) it provides cumulative record of e U TR |
Fhe. grovffth of students. 3) @ : s BEET =@ =
3) Ltn;)sle?:;lt( and easy to plan and S ST i i E
(4) it provides conclusive information (4) T et &R # for
about the students. EAT UK B E |
75. To teach the Partition of India 73. WW*W‘*W%W
through an inquiry method, which one ﬁ?ﬁram%q frrafafaa o | - Ty
- of the following methods would be Wﬁ?ﬂaﬂﬁﬁ‘?
M 2 ‘
(nll;)St sclz)lltll::z:fn. eyewitness accounts M ¥ =
8 S Ut T |

through interviews/discussions.

(2) holding a lecture on the freedom (2) @ WYY W SN S |

struggle. (3) RA % WA THY W @ @
(3) drawing a timeline of India’s T |
struggle for independence. .
(4) narrating the role of political (4) Tl Fsl ® wfr @
leaders. P |
76. In Social Science, reflective teaching 76. wWIRE T o e wgm =1 e
is preferred to routine teaching faamsfier freror =y arftrmar Sﬂ e ¥
because : i -
(I) it is unresponsive to changing (1) #® wxert wRfefel & ferw
circumstances. : ' 5 SRt TR ¥ |
(2) it implies flexibility, analysis and @ :%Wq:f” %?ITl P %_"'R‘"ﬁﬂl, fagetaor 3iR
social awareness. @) e T ! N .
(3) itis anew idea hence, popular, T "

(4)  itis guided by tradition and habit, 4) ;g. R 3R Ry gr R e
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77.

78.

79.

80.

81.

Which one of the following statements

is correct about a representative
democracy ?

" (1) Rules and Regulations are made
directly by the people.
(2) The decisions are authorised and
supervised by the elected members.

(3)  The rules are made by a group of
nobles.

(4) The decisions are taken by the
hereditary ruler.

Who from among the following

appoints the Secretary of Gram
Panchayat ?

(1)  Panchayat Samiti
(2) Zila Parishad

(3) Panchayat President
(4) Government

The two states involved in Cauvery
water dispute are :

(1) Andhra Pradesh and Tamil Nadu
(2) Karnataka and Andhra Pradesh
(3) Karnataka and Tamil Nadu

(4) Karnataka and Kerala

Which one of the following statements

about the Chief Minister of a state is

correct ?

(1) = She/He is
President.

(2) She/He appoints other ministers;

(3) The Chief Minister and other
ministers do not have separate

appointed by the

offices.
(4) The Chief Minister is elected by
the MLAs (Members of

Legislative Assembly) belonging
to the party winning a majority of
seats.

Which one of the following statements

about Weavers’ Cooperatives is
correct ? .
(1) These Cooperatives — arc not

provided any kind of support by
the government.

(2) These Cooperatives reduce the role
of merchants and help weavers to
get a fair price for their cloth.

(3) These Cooperatives only engage
in trade with private enterprises.

(4) These Cooperatives are not into
marketing  but only into
production.
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82.

83.

- 84,

85.

86.

Which one of the following statements

about the Rajya Sabha is correct ?

(1) It selects the executive.

(2) It represents the states of India in
the Parliament.

(3) It consists of 245 nominated
members.

(4) It is led by the Prime Minister.

The ' final interpreter of the
Constitution of India is :

(1)  the Executive

(2) the Judiciary

(3) thecitizens of India

(4) the Legislature

Civil laws deal with :

(1)  any harm or injury to the rights of
individuals.

(2) - disputes between states.

(3) disputes between the Central
Government and a @ State
Government.

conduct or acts that the law
defines as offences.

“)

Which one of the following statements
is incorrect about First Information

Report (FIR) ?

(1) The identity of the accused person
and witnesses if known is
mentioned.

(2) It states the name and address of
the complainant.

(3) The complainant can get a copy of
the FIR by paying a prescribed
fee.

(4) It is compulsory to be registered
in case of a cognizable offence.

Who chaired the committee in 2005
that examined the social, economic
and educational status of the Muslims

in India ?

(1) P.K. Thungon
(2) D.S.Kothari
(3) R.Sachar

(4) B.P.Mandal

»
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87.

88.

89.

90.

Which one of the following methods

would be most appropriate for a

constructivist discussion on historical

monuments ?

(I) a question-answer
monuments

chart on

(2) photographs of a school picnic to
a monument

(3) identifying a local monument and
narration of stories around it

(4) a collage of monuments with

labels

Choose the most suitable reason for
introducing class discussions on a

social science topic.

(1) It keeps students busy.

(2) It tests what students have learnt
from media.

(3) It enables students to relate to the
topic and express themselves.

(4) It reduces the time teachers have

to speak.

Select the most appropriate choice

from the following two statements A

and B: .

What is the advantage of asking

questions in a Social Science class ?

A. It assesses students’ understanding
of the concept and recall of ideas
discussed in an earlier class.

B. It assesses how well new ideas have
been understood and ensures its
repetition in students’ own words.

(1) Bonly

(2) BothAandB

(3) Neither A nor B

(4) Aonly

Choose the  most appropriate

statement that  describes Social

Science.

(1) A study of individuals and their
achievements

(2) A study of relationships of people
in a context

(3) A study of physical matter

(4) A study of space and quantity

J
\VICIRINAVAV | Lly A\ CIRRL VICIRI N LAY |

(C2))

87.

88.

89.

90.

X
R TRt ur T vt @ e
frafafoe o @ werd fufo gag 2
iy
(1
(2)

BT 9T U3 6 A1

et Wy ey & v et
& R
i @ w A w0

3

® S S FwTT A HA

(4) TR B A Hfiret HIATT

AR fear Farera o Ua et T I

Ft & forg e 3 o 9

(1) zqd) Terenfigai ot o Tad & |

) @ e @ § o fEnfad 3
fzar & w1 HiaT ?

(3) <o foramdt fao & @4 o5 7A€
37 a7 Ft AT H AHA 6 |

(4) TER Fowres ! HH WA A @ |

frfafas 2t ®u A 3T B § & Had

TR HROT & | (T :

AT R i wET | U B ge

FrERTATE?

A fogrdt @ EuROT & TEH W
e HET AR qd wwa § g8
T} T TROT 6T |

B. T foami = 9 & Al HAT
At fenfadt & oo W= B TR

AT |
(1) el B
(2) THTA @RB
(3) TAIRAB
(4) HAATA
e IR FEA B GET S AHIAE
A T A BT ;
(1) =afR Te 3 Juctie T T |
2 ww wf F @m & weEd W
e |
(3) i TET T A |
(4) W SR HE A AT |



X (42) P-1I

PART -1V
LANGUAGE -1
ENGLISH

IMPORTANT : Candidates should attempt questions from Part— IV (Q. Nos. 91-120),
if they have opted ENGLISH as LANGUAGE - I only.

Directions : Read the passage given below the lantern. This would be no great

and answer the questions (Q. Nos. 91-99) labour were it not that to reach the

that follow by selecting the most lantern at the summit of the tower he

appropriate options : must climb more than four hundred steep

The
lighthouse

task of finding a new

keeper fell to the
commissioner of Malta, and this task
was no small one; first, because it was
absolutely necessary to find the man
within twelve hours; second, the man
must be unusually conscientious, — it
was not possible, of course, to take the
first comer at random; finally, there was
an utter lack of candidates. Life on a
lighthouse is uncommonly difficult, and
by no means enticing to people of the
area who love idleness and the freedom
of a vagrant life. And a lighthouse
keeper is almost a prisoner. He cannot
leave his rocky island except on
Sundays. A boat from the mainland
brings him provisions and water once a
day, and returns immediately; on the
whole island, one acre in area, there is

no inhabitant.

The keeper lives in the lighthouse;
he keeps it in order. During the day he
gives signals by displaying flags of
various colours to indicate changes in

the barometer; in the evening he lights
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91.

and very high steps; sometimes he must
make his journey several times during
the day. In general, it is the life of a
monk, and indeed more than that, — the
life of a hermit. It was not wonderful,
therefore, that Mr. Koshy was in no
small anxiety as to where he should find
a permanent successor to the recent
keeper; and it is easy to understand his
joy when a successor announced himself
most.unexpectedly on that very day. He
was a man already old, seventy years or
fresh,

movements and bearing of the soldier.

more, but with the

erect,

His hair was perfectly white, his face
sufficiently tanned, but judging from his
blue eyes, he did not belong to the

people of the area.

The keeper didn’t have to :

(1) make use of the flags at night.
(2) light the lantern.

(3) climb the tower twice.

(4)  keep the island neat and tidy.
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92. The candidate was not rejected by

Mr. Koshy as :

(I)  he was one of the local people.
(2) his eyés were blue,

(3)  he was old.but fresh and erect.

(4)  his hair was white and face
tanned.

93.  Which part of speech is ‘tanned’ in ....

‘his face was sufficiently tanned .,.’ ?

“se o

(1) Adjective

(2) Verb
(3) Adverb
(4) Noun

94. 'What is the antonym of ‘permanent’ ?
(1) temporary
(2) dynamic
(3) uneven

(4) moving

95. ‘... and bearing of a soldier...’

What does ‘bearing’ mean here ?
(1) carrying

(2) courage

(3) knowledge

(4) manner
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96.

97.

98.

99.

‘The task of finding a new ....

The word, ‘finding’ is a/an :

(1
(2)
(3
C)

Verb
Adjective
Adverb

Noun

The lighthouse was built :

(1
(2
3)
4

on a small island.
on a popular sea beach.
in a stormy sea.

in Malta.

Mr. Koshy’s job was very difficult as :

(0Y)
2)
3)
4

it was difficult to make the choice.
no eandidate was good enough.
no one was tall enough.

there was lack of candidates.

Life on the island was comfortable as :

(1)

)
€))

4)

the keeper could grow his own
food.

food came from the mainland.

the keeper could have his family

with him.

the keeper could fish in the sea.
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of speech used in line 10 js -

X (44) -
Directions : Read the extract given below 102. The figur
and answer the questions (Q. Nos. 100-105) (1) a metaphor
that follow by seclecting the most e
appropriate options : (2) ahyper
3) alliteration
I sometimes hold it half a sin 4) personifiCation
To put in words the grief | feel:
For words, like Nature, half reveal b used in line 3 j
used in line 3 js :
And half conceal the Soul within. 103. The figure ok i
But, for the unquiet heart and brain (1) ametaphor
A use in measured language lies; 2) a hyperbole
The sad mechanic exercise, 3) perso nification
Like dull narcotics, numbing pain. .
(4) asimile -
In words, like weeds, I’ll wrap me o’er,
Like coarsest clothes against the cold:
But that large grief which these enfold 104. The poet considers it a sin to express
Is given in outline and no more. his___in words.
(l) sorrow
100. ‘Measured language’ can help in : (2) _ambitions
| making pleas.
M gp (3) anxiety
(2) numbing the pain. _
(4)  excitement
(3)  expressing joy.
(4) giving orders.
105. It s a sin to open one’s heart and soul
in words because :
101. The brain and heart are unquiet as they : |
0 o (1) they cannot fully express the truth.
are too joyous. ‘
@) are filled with fear (2)  they can be easily misunderstood.
' (3)  no indjvj
(3) are wrapped in coarsest clothes, dual has full command of
words,
(4)  are overwhelmed with grief.
4 : .
@) the Society does not allow it.
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pirections :

Answer the following questions

by selecting the most appropriate options :

106. Intensive Reading :

(1)

()

(3)

4

107. Poetry teaching should ideally be
meant for :
(1) learning grammar
(2) learning poetic devices
(3)  vocabulary building
(4) enjoyment and appreciation
108. The pedagogy of language does not
refer to :
(1) Science of Teaching.
(2) Craft of Teaching.
(3) Methods of Teaching.
(4) Art of Teaching.
109. Reading skill can best be developed by :
(1)  doing vocabulary related exercise.
(2) engaging in quizzes and word
games.
(3) focussing on the use of words in a
given context. .
(4) writing answers to text based

does not include skimming and
scanning.

aims  at learning  certain
grammatical rules.

promotes  only extrapolative
understanding.

involves learner’s reading in detail

with specific learning aims and
tasks.

questions.

45)

X

110. One of the qualities of a good

composition is :

M

(2)

(3).

4)

111.
1)

)

3

(4)

maintaining logical consistency.

making maximum use of passive

voice.

using phrases and idioms.

using only flowery language.

Direct method is also-known as :
deductive method

straight method

natural method

inductive method

112. Language Acquisition stands for :

0]

@

@)

Q)

leamning a language without
making any deliberate or
conscious effort.

learning a language through some

specific language methodology.

acquiring a language by taking

recourse to one’s mother tongue.

learning a language with a

deliberate and conscious effort.
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113. A teacher in a rural area finds more

than 5 languages being spoken by
children in her classroom. She
attempts to use all the languages of
children in her teaching. What is this

strategy known as ?

(1)  Translation

(2)  Subtractive bilingualism
(3) Translanguaging

(4) Multilingualism

114. Languageisa :
(1)  group of words and sentences.
(2)  systematic arrangement of words.
(3)  group of grammatical structures.

(4) system.

115. ‘Story telling as a strategy’ is used to :

(I) promote language learning

holistically.
(2) learn vocabulary.
(3) recall the story.

- (4) understand the moral of the story.

116. Functional grammar lays emphasis on :

(1) linguistic items.
(2) use of language.
(3) syntactical items.

(4) rules of language.

e

(46)

117.

118‘

119.

120.

P-I1
In learning of English as a second
language committing an error is :

(1) a problem that needs to be

rectified immediately.
(2) an indicator of learning.

(3) ahindrance that hampers leaming.

4 a problem.

The term ‘linguistic competence’ is
associated with which one of the
following approaches/methods to ELT ?

(1) Direct method
2) Grammar-Translation method
(3) Communicative approach

(4)  Structural approach

Silent reading is encouraged because
it :

(1) __promotes fluency and accuracy.
(2) promotes memorising,.

(3) is good for the teacher.

(4) does not disturb others.

Which one of the following is NOT a
step in the process of developing
writing skill ?

(1)  Proofreading
(2) Editing
(3) Transcribing

(4) Drafting

S
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PART - V
LANGUAGE - 11
Al ) \
ENGLISH g OPETTET™

IMPORTANT : Candidates should attempt questions l;:
it they have opted ENGLISH as LANG

yn Part -
UAGE - 11 only.

Directions : Read the passage given below and
answer the questions (Q. Nos, 121-128) that
follow by selecting the most appropriate
options

In the late summey of that year we lived
i a village that looked across the river and the
plain to the mountains. In the bed of the river
there were pebbles and boulders, dry and white
in the sun, and the water was clear and swiftly
moving and blue in the channels. Troops went
by the house and down the road and the dust
they raised powdered the leaves of the trees.
The trunks of the trees too were dusty and the
leaves fell early that year and we saw the
troops marching along the road and the .dust
rising and leaves, stirred by the breeze, falling
and the soldiers marching and afterwards the
road bare and white except for the leaves.

The plain was rich with crops; there
were many orchards of fruit trees and beyond
the plai» e mountains were brown and bare.
Therc was fighting in the mountains and at
night we could see the flashes from the

artillery. In the dark it was like summer

lightning, but the nights were cool and there

was not the feeling of a storm coming.

A
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Sometimes in the dark we heard the

. window and gu
troops marching under the win guns

going past Dullcd by motor -tractors. There was

i S
much traffic at night and many mules on the

roads with boxes of ammunition on cach side

of their pack saddles and grey motor-trucks

that carried men, and other trucks with loads

covered with canvas that moved slower in the
traffic. To the north we could look across a
valley and see the chestnut trees and the

branches were bare and the trunks black with

rain.

121... The troops were marching :
(1)  without any hope of victory.
(2) away from the battlefield.
(3) to the battlefield in the mountains.

4) | towards the North.

122. There was fighting in the mountains.
The word, ‘fighting’ is a/an :

(1) Verb

(2) Adjective
(3) Adverb
(4) Noun
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123. We saw the troops.

. The tense in the above sentence is :
(1)  Present Continuous
(2) Past Indefinite

(3)  Past Perfect

(4) Present Indefinite

124. The word, ‘boulders’ means :
(1) big stones
(2) fishes
(3) bad bruises

(4) acloister

125. What does the word, ‘ammunition’

mean ?

(1) Information
(2) Food articles
(3) Winter clothes

(4) Bullets
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126. As a result of the soldiers’ march :

(1) the leaves were crushed under the

feet.

(2) the leaves were falling on the

ground.

(3) a view of the hills was not

possible.

(4) the trees got covered with dust.

127. From his house in the village the

narrator did not see :

(1) plain and mountains in the

distance.

(2)  soldiers_clearing the road of the

leaves.

(3) _ bare and white road with leaves

on it.

(4) | [clear and swiftly moving water in

the river.

128. Which one of the following statements
is FALSE ?

(1)  Across the plains there were the

snow covered mountains.

(2) The guns were flashing like
lightning.

(3) The nights were cool even in

summer.

(4) ° The soldiers had not destroyed the

Crops.
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Directions : Read the passage given below

and answer the questions (Q. Nos. 129-135)
that follow by selecting
appropriate options :

Ultimately Baloo, a snow-white

polar bear appears to have ended up with

an animal trainer who took his bears to a
circus. They were forced to imitate
human behaviour like dancing with
music, playing with balls and walking
upright. Baloo endured mental and
physical pain - trainers whipped the
bears on the face, head, and hind
quarters — as well as a sweltering
environment hostile to her polar bred
sensibilities. When not performing,
Baloo and her peers were warehoused in
a trailer divided into several metal cages.
They could not lie properly and had to
curl into a C shape to lie on their sides,
or put their feet up against the wall to lie
on their backs. Moreover, life in the
tropics posed its own challenges.

Over five million yearsyupolar
bears evolved to handle extreme cold.
Wild bears can overheat, if the
temperature rises above minus 20 degree
centigrade, forcing them to plunge into
the ocean or lie on their backs on a
frozen surface — options unavailable to
Baloo and others. In fact, animal welfare
investigators documented temperature
spikes as high as 45 degree centigrade
next to the cages. Heat’s effect on a
polar bear is dramatic. Humans sweat to
stay cool, but bears don’t. They pant to
cool off. The hotter it is, the greater the
panting. As a result, the circus bears

were dehydrated and scrawny. While a
polar bear’s normal respiration rate is
somewhere between 10 and 30 breaths
per minute, the suspected rate for a

circus bear, when lying still is 60.

A

)

Joualiticu lJ_y waliliovaliilivcl

the most

(54)

129.

130.

131.

132.

133.

134.

135.

.‘ Y P~I
stay c,qpl, Baloo : X

to .

::l)ord:ZCded to breathe 10 — 30 Hitieg
per minute. ‘

(2) had to breathe 60 times pe,
minute.

3) used to lie down on a frozey
surface.

(4) hadto sweat a lot.

Antonym of the word, ‘hostile’ is :

(1) prompt

(2) absent

(3) homesick

(4) friendly

‘.... the suspected rate fora ...>.

The word, ‘suspected’ here is a/an :

(1) Verb

(2) Adjective

(3) Adverb

(4) Noun

What does the word, ‘spikes’ (para 2)
here mean :

(1) enjoys
(2) lowers
(3) rises
(4) rods

In the circus, Baloo was made to :

(1) climb stairs.

(2) walk like humans.
- (3) sitonastool.

(4) play with rings.

When not performing in the ring
Baloo was :

(1) allowed to roam around.
(2) shut up in a metal cage.

(3)  kept in an ice-cooled room.
(4)  kept tied to a peg.

Animals in the circus :

(1)  could not sleep in the normal way.
(2)  were treated with care.

(3)  were allowed to play as they liked.
(4) got good food to eat.
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' pirections : Answer the following questions
py selecting the most appropriate options :

136. The idea that children are born

137.

138.

139.

with language acquisition device is
given by :

(1) Chomsky

(2) Vygotsky

(3) Piaget

(4) Skinner

Critical pedagogy :

(1) promotes peer group learning.

(2) does not challenge the existing
knowledge.

(3)  develops instrumental understanding.

(4) allows students to arrive at

informed understanding.

Listening comprehension is a :

(1) hearing skill
(2) receptive skill
(3) creative skill
(4) productive skill

Which one of the following practices

will help most in developing oral

language skill ?

(1) participating in role plays

(2) chorus reading of a chapter in the
textbook after the teacher

(3) practising the correct |
pronunciation of words in chorus
after the teacher

(4) reciting poems individually and in
chorus

Scarread Dy caimnscanner
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140.

141.

142,

143.

Engﬁsh belongs to : X

(1) Indo-European family of
languages

(2) European-Celtic family of
languages

(3) Nordic family of languages

(4) Indo-Aryan family of languages

In a constructivist classroom learners

are :

(1) interacting in groups and the class
is somewhat noisy.

(2) writing the answers from the
blackboard in good handwriting.

(3) taught by expert teachers.

(4) listening attentively  to  the
teachers.

While assessing a student, the teacher
should compare the progress of a
child :

(1)" withithose who learn fast.

(2) with those who are slow learners.

(3) with his/her previous level of
learning.

(4)  with other children in the class.

Formative assessment helps in : -

(1)

assessing teacher’s efficiency in

teaching. .

(2) providing qualitative feedback to
learners to improve.

(3) conducting tests in a week.

(4) creating a competitive atmosphere

in the class.
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144. While teaching a language through

(56)

the skill of Stimulus Variation, a
teacher should :

(1)  focus on demonstration

various TLMs.

using
(2)  use movement and gestures while
teaching.

3)

strengthen the desirable behaviour
of the learers.

4)

use students’ previous knowledge.

145. Guided writing provides __ to

students when writing on their own.

(1) review and feedback

(2) model text and visuals

(3) - opportunities for creativity

(4) helpful
support

tools, scaffolding and

146. Language is the ability to acquire and

use :

(I) some of its basic skills.

(2) complex systems of communication.
(3)
(4) aset of grammatical rules.

some of its components.

147. Which one of the following is not true

of English language learning as a
second language in school ?

(1) learning the sounds of the
language

(2) learning to become a linguist

(3) learning the grammar first to
become a fluent user of English

(4) learning to use the language for

various purposes

148. Listening to a good speaker helpy .
learner :
(1) in a.lcvcluping his Psychomotoy
skills.
(2) in improving his/her  hap;,
formation.
(3) in making  him/her  selective

149.

150.
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listener.

(4) in avoiding communication errors,

Which one of the following is correct
about teaching learning of English
grammar ?

to use the English

(1) Learning
language and discovering the rules

of grammar in context,

(2) Learning grammatical  forms/
patterns is essential for learning
English.

(3) There is no need to learn its

grammar for learning English.

grammar in the

formative years helps in better

(4) Learning

learning of English.

Lower-order questions are meant to :
(D

(2) apply new ideas.

apply the ideas of the text.

(3)  recall the vocabulary to be learnt
in the text.

(4) recall facts from previous
knowledge.
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. be considered as using unfair means in the

uestions are to
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has been expl refully before actually

b answereldshzc!)u]d rea(i ca

f th the dues res for eaghtqubest(ijoni( only
Out of the ot answer is to be darkened
one CerI? %ﬁ[}?glzggf Jue Ball POlntrPc‘? on Side-2
c?ltllllglg)trc\d)ll{Answer Sheet. The answeronce marked
% not liable to be changed.

: nsure th
ﬂfoiag}bizge?)? zléltdrgakc any stray marks on the
is :

: No. anywher.
write your Roll ywhere

/}HSWer Sltmet. Do not Sp);ice in the Answer Sheet,

else excep

in the specified ,
Handle the 3]{105: Bé)ok!ct and Answer Sheet with care,

i 3 except for discrepancy
no circumstances (
?1: '}!:gt;;ooklet Code or Number and Answer Sheet

Code or Number), another sct will be provided.
. . . orrect Test Booklet
The candidates will WrZe t;leir? the Test Booklet /

Code and Number as g1ve
Answer Sheet in the Attenda_ncc Shesat. L OMR
A machine will read the coded information inthe

i ion should be left
Sheet. Hence, no information s
ﬁlgf)vlzli)rlete and it should not be different from the

i - iven in the Admit Card. _
information give it Card. iy textual

Candidates are not allowed
material, printed or written, bits of papers, pager,

mobile phone, electronic dc_vice or any Ot_her matenal
except the Admit Card inside the examination hall/
room. o )

Mobile phones, wirgless communication devices
(even in switched off mode) and the other banned
items should not be brought in the examination halls/
rooms. Failing to comply with this instruction, 1t will

at the Answer Sheet

examination and action will be taken against them
including cancellation of examination.
Each candidate must show on demand his / her Admit
Card to the Invigilator. ‘

No candidate, without special perrhission of the Centre
Superintendent or Invigilator, should leave his/ her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet
twice. Cases where a candidate has not signed the
Attendance Sheet a second time will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case. The candidates are also
required to put their left hand THUMB impression in
the space provided in the Attendance Sheet.

Use of Electronic / Manual Calculator is prohibited.

The candidates are governed by all Rules and
Regulations of the Board with regard to their conduct
in the Examination Hall. All cases of unfair means will
be dealt with as per Rules and Regulations of the
Board.
No part of the Test Booklet and Answer Sheet shall
be detached under any circumstances.
On completion of the test, the candidate must hand
over the Answer Sheet to the Invigilator in the
Room / Hall. The candidates are allowed to take
away this Test Booklet with them,
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